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De serieschakeling 

𝑈 = 150𝑉 

R1=50W R2=100W R3=150W 

𝐼 = 0,5𝐴 

𝐼 = 0,5𝐴 𝐼 = 0,5𝐴 

𝐼 = 0,5𝐴 

𝑉 = 150𝑉 𝑉 = 0𝑉 

De serieschakeling 

𝑈 = 150𝑉 

𝐼 = 0,5𝐴 

R1=50W R2=100W R3=150W 

𝑈 = 25𝑉 𝑈 = 50𝑉 𝑈 = 75𝑉 

𝑉 = 125𝑉 𝑉 = 75𝑉 

𝑉 = 150𝑉 𝑉 = 0𝑉 

𝑈1 = 𝐼1. 𝑅1 = 0,5𝐴. 50W = 25𝑉 

𝑈2 = 𝐼2. 𝑅2 = 0,5𝐴. 100W = 50𝑉 

𝑈3 = 𝐼3. 𝑅3 = 0,5𝐴. 150W = 75𝑉 



www.labofun.be 2 

𝑈𝑡𝑜𝑡𝑎𝑎𝑙 = 𝑈1+𝑈2+ 𝑈3+⋯ 

𝐼𝑡𝑜𝑡𝑎𝑎𝑙 = 𝐼1 = 𝐼2 = 𝐼3 = ⋯ 

R1=50W R2=100W R3=150W 

𝐼 = 0,5𝐴 𝑈 = 150𝑉 

De vervangingsweerstand bij een serieschakeling 

RS=300W 

𝐼 = 0,5𝐴 𝑈 = 150𝑉 

𝑅𝑡𝑜𝑡𝑎𝑎𝑙 = 𝑅1+ 𝑅2+ 𝑅3+⋯ 


